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sin'(z) = cos(z) N1"0"02 MIRNDM
cos"(x) = —sin(;f:)
tan(z) = ——
(@) f@=c = flz)=0
cot' (@) = ——y fo)=cr = flx)=c
s (2] @)= 5 fle) = et
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sinT' (z) = N
' -1
cos!(x) = — flz) =g(z) £ h(z) = [f(z)=g'(z)£H(z)
) e £#) = g@hiz) = () =g @hia) +o(x)h(x)
tan” " (z) = T "(2)h(z) — g(z)h'(z
J 1—_|—1er f(x) _ i%j:; - f’(m) — g ( )‘i ( ])12(;;( )] ( )
cot™ (z) = 14 22 flz) =eg(z) = Flz)=cg'(a)
f(z) =hig(z) = [f'(z) =N"(g(z)-g'(x)
nmnTRnn MITA
f@) =M@ > f@=1
flz)=€" = fl(a)=¢"
flz)=¢" = flz)= ey e
fle)=2 = fl(z)= cxt~1



